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1. Work out 196 +7

You must show your workings out

2. Work out 270=6 1. o

You must show your workings out

3. Work out 1500 + 3 20

You must show your workings out

given-sign(11) Q1: 28, Q2: 45, Q3: 500, Q4: 54, Q5: 42, Q6: 40 Can someone tell no calculator was used?

1. Work out 196 =7

You must show your workings out

2. Work out 270+6 1. oo

You must show your workings out

3. Work out 1500 + 3 2 .

You must show your workings out
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4.

Work out 486 =9

You must show your workings out

Work out 252 +6

You must show your workings out

. Work out 280 =7

You must show your workings out

. Work out 486 +9

You must show your workings out

. Work out 252 +6

You must show your workings out

. Work out 280 =7

You must show your workings out
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